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Q.No: 1  Which statement is wrong about the Kingdom of Magadha?
2426923
Y T & SR H S A P TAd 32
The kingdom of Magadha had large deposits of Iron ore.
A
Y I A6 RE F I HSR ¥
One third of produce was given to the king as tax.
B
IS P U FogTs e B R & W H o s o
Bimbisara became the king of Magadha in 542 B.C.
C
RfER 542 S gd A 7% 1 TS &1
Much of the trade and transport in Ganga plain was done using boats in river.
D
T & Ao A i SR SR gRagH e H A BT Suhi S fean s o
Correct Ans : B
Subject : General Knowledge
Q.No: 2 Hasht Bihisht is a central hall surrounded by how many rooms?
2427477
7 ffew b wei & iR oo Skt e @2
Two
A
Q@
Four
B
£
Six
C
EH
Eight
D
i)
Correct Ans : D
Subject : General Knowledge
Q.No: 3 With reference to Khelo India Youth Games, which statement is not correct?
2427531
Tt 3iogar gy i & g A i W H T T je
The first edition was held in New Delhi in 2018.
A
g WEpu 2018 # it feweht # smifera foran )
2nd edition held in Bhubaneswar, Odisha
B
TR RO SIS & YR 7 Srifora fasar wan
3rd edition played in Guwahati, Assam in the year 2020
C
R TR a 2020 A SR F [ARET B Jam T
D Haryana government will organise the 2021 edition of the Khelo India Youth Games in February 2022.
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TRETON TRPR HRadt 2022 & Got 37391 7Y 779 & 2021 TR $T SHOH HOR

Correct Ans : B

Subject : General Knowledge

Q.No:4 _ was the first country to allow women to vote in ____ year.
2427570
EN i wfgersll 1 die 37 BT srgAfa &7 dren ggw a9 Ul
New Zealand in 1893
A
Telidls, 1893 #
Australia in 1863
B
s, 1863 #
United States in 1852
C
Yy T AR, 1852 H
France in 1892
D
Wi, 1892 #
Correct Ans : A
Subject : General Knowledge
Q.No: 5 India imported US$ billion worth of goods from around the globe in 2020, up by 3.2% since 2016 but down by -23.2% from 2019 to 2020.
2428897
HRT 4 2020 # gFRT R Y faferr SRt STeR BT MM S 1, S 2016 & 3.2% % 8, AFT 2019 § 2020 TF -23.2% 9 3
US$ 680
A
qUH $ 680
uss$ 120
B
qqH $ 120
us$368
[o}
qUE$368
US$ 250
D
qua $ 250

Correct Ans : C

Subject : General Knowledge

Q.No: 6  During the Lucknow Pact in 1916, which of the following personalities has represented Congress?
2432441

1916 ¥ TGS THIIN & GRM Fufifad ¥ 3 fra viSaad 3 w9 @1 v e @2
Bal Gangadhar Tilak

A
a1 TR foerd
Lala Lajpat Rai
B
NIGIGIEERRIE)
Dadabhai naoroji
(e
T Rt
Mahatma Gandhi
D

T et
Correct Ans : A

Subject : General Knowledge
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Q.No: 7  What is the target of the Consumer Price Index?
2434057

Jusiaa Hed Yaodie &1 aed fan fFuffa e mr g 2

+/-2 percent to medium term target of 2%

A
2% & HegaiS q&@ Bl + /-2 fawd
+/-2 percent to medium term target of 3%
B
3% & TeAaiie a&@ B +/-2 U=
+/-2 percent to medium term target of 4%
(o}
4% & TYUEaRE q8h P + /-2 TR
+/-2 percent to the medium term target of 5%
D

5% % AYUEE q&d $ +/-2 Wia=d
Correct Ans : C

Subject : General Knowledge

Q.No: 8  Men's FIH Hockey World Cup 2023 will be hosted by which country?

2437137
TN gt {3y T 2023 F ASEH g & GRI B w2
Pakistan
A
Eicasiet
South Africa
B
Sfaror simieT
India
C
HRd
England
D
i

Correct Ans : €

Subject : General Knowledge

Q.No: 9 Which one of the following soils is formed by the process of leaching??

2440711
Frmfeife & @ R T 1 P Fraret 3 SR g S S 2
Laterite
A
e
Red
B
IS
Pete
C
e
Black
D
et

Correct Ans : A

Subject : General Knowledge

Q.No: 10 Recently, in M.P. which app has been created for complaints of violation of Model Code of Conduct in 2020 by-election?
2441005

T & 8§ T F 2020 IUgTE § siexf SR Wi ¥ Iwwa 3 Rt $ Re S @ Y S w8
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Booth app

Eokal

cVigil app
B

e qa

Shikayat app
C

Rrpra ¥

Jagrukta app
D

SIREHd T
Correct Ans : B

Subject : General Knowledge

Q.No: 11 Where is the Buddha Jambudweep Park situated?

2441210

T gy T et R ¥2

Bhopal
A

e

Sanchi
B

il

Udaygiri
C

Ieafii

Bharhut
D

HREA

Correct Ans : B

Subject : General Knowledge

Q.No: 12 The Jahaz Mahal of Mandu has been built by -
2441245

Tig &1 Je Hed [Fad §RI S a/™l TR | -
Sultan Allahuddin Khalji

A
T g e
Sultan Ghiyas-ud-din Khalji
B
G TA-3-4 faesh
Sultan Mahmud Khalji
C
e e et
Sultan Jalal-ud-din Khalji
D

G Sa-8e-4H st
Correct Ans : B

Subject : General Knowledge

24'101:21730 Which famous poet, writer and journalist of Madhya Pradesh was born on 4th April 1889?

Y YR ¥ {59 UG fd, TF iR TIER &1 o 4 3ifid 1889 H garm u1?

Nathuram Premi

A
A Bt
B Ramkumar Verma
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IWHIR T9t
Makhanlal Chaturvedi

c
AR Tgdal
Bihari Lal

D
[ERRIGIG

Correct Ans : C

Subject : General Knowledge

Q.No: 14 Bhojpur, a town that houses one of the biggest Shivlings in the country, is located just 25 Kms from which of the following places?

2441435

TR, T TeR foret &9 & wad o Rafer § 9 wo ¢, Fofofea # 9 59 =M § $aq 25 e 3 g = e 82

Panchmarhi
A

tend

Chitrakoot
B

fge

Bhimbetka
C

imdest

Maheshwar
D

HRH

Correct Ans : C
Subject : General Knowledge

Q.No: 15 What percentage of the schedule tribal population of Madhya Pradesh are aged 0 to 6 years (as per the Census 2011)?
2441631

T YN BT TG ST SR F1 forert Ufawrd 0 & 6 99 @1 o1y (2011 3 TV F SER) §?

16.01%
A

16.01%

15.86%
B

15.86%

18.46%
C

18.46%

14.78%
D

14.78%

Correct Ans : C

Subject : General Knowledge

Q.No: 16 Judicial Officers' Training Institute (JOTI) was established in which of the following years?
2441690

R SHRHRI TRIE0 IR (JOTI) $t oA Fafifed # § ooy af § &t 7 o

1963
A
1963
1989
B
1989
c 1994
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1994

1999

1999
Correct Ans : C

Subject : General Knowledge

Q.No: 17 When Madhya Pradesh was a territory known as the Central Province, the Highest Court was in which of the following places?
2441707

9 B YR A Uid &Y F FE FH e &7 o, Ian gy Hafifed § § 5 ®E w ar

Jabalpur
A

SR

Gwalior
B

TIRRR

Indore
C

w€R

Nagpur
D

TR

Correct Ans : D

Subject : General Knowledge

Q.No: 18 Who is the current Advocate General of Madhya Pradesh?

2441711
Hel YR § A ARIEeR S 82
Shashank Shekhar
A
P TR
Purushaindra Kaurav
B
To8 BRT
Prashant Singh
C
it Rig
R.C. Agarwal
D
SR, ST

Correct Ans : C

Subject : General Knowledge

Q.No: 19  Who among the following appoints the Advocate General of Madhya Pradesh?
2441722

Frofafad & 3 B we vy & Aeiiasar #t Fyfw e @2
Chief Justice of MP High Court

A
T YR S <A & T8 ArEier
Governor of MP
B
el R e
Chief Minister of MP
C
T TSN & T
Speaker of MP Legislative Assembly
D

e U Ay avT & sredes

Correct Ans : B
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Subject : General Knowledge

Q.No: 20 Garba folk dance is related to which of the following states?
2442358

TReT Wi T FafifEa ¥ @ e asa @ gdfta @2

Rajasthan
A
REIE]
Madhya Pradesh
B
T TR
Odisha
C
Sffe=n
Gujrat
D
TR

Correct Ans : D

Subject : General Knowledge

Q.No: 21 What are the four major water bodies?
2422842

TR W el A B 9 82

Pacific oceans, Atlantic oceans, Indian oceans and the Arctic oceans.

WRITT FETERR, Scdifed HEMrR, fie FemmR iR snbfed wermR|

Marina trench, Atlantic Ocean, Indian oceans and arctic oceans

B

T ¢, sfedifed TRRTR, f§E TRRIFR SR sThfed TERINR

Hudson Bay, Gulf of California, Gulf of Mexico, Mediterranean Sea
Cc

TS §, DRI 3t T, AR 9 @), yHE R

Gulf of Mexico, Persian Gulf, arctic ocean, Indian ocean
D

ARG B! TS, BRY B W, AHied TERTR, g TeRrR

Correct Ans : A

Subject : General Science

Q.No: 22 kills the fish by deoxygenating water. Which among them doesn‘t fits in the blank.
2422850

et &Y sifefior Xed TR Tod B AR g1 3 O B Rad w1 o g1

Sewage dumped in the river.

A
& & e T W
Dust in the air

B
[LED
Eutrophication

C
o
Increased BOD

D

g1 g dsndt

Correct Ans : B

Subject : General Science

Q.No: 23 Which disease occurs in various organs like lungs, mouth, tongue, stomach, breast, uterus, skin and tissues like blood?
2423005
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FES, 4, o, U2, W, TufRr, @ ofR o S Saw! ol faftE o 1S &1 a1 T gar 82

Rabies
A

ECic]

HIV
B

R @

Cancer
C

Eaid

Diabetes
D

nyhE

Correct Ans : C

Subject : General Science

Q.No: 24 Medicines should not be taken without

2423014

o g e wE iR |

Subscription
A

S

Prescription
B

Jwar

Fresh Juice
C

GBI

Junk food
D

I S

Correct Ans : B

Subject : General Science

Q.No: 25 One can save the life of twelve people by donating the blood how many times a year?
2423043

e A fFaht SR ToRIE BRP TRE AN BT S I9IS o ebell 57

Four
A

TR

Three
B

Gisl

Two
C

@

One
D

TH

Correct Ans : A

Subject : General Science

Q.No: 26 Sound following a flash of lightning is called

2425756
oot Bt s F A oM Al @R & FeI S 3l
Thunder
A
Tl
B
https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 8/37

Page- 8


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Stoning

BT
Cloud clash

e Jof

Hail

e

Correct Ans : A

Subject : General Science

Q.No: 27 Which of the following is a phyla of plant and animal kingdom respectively?
2428727

PRt & 3 B ma: 9 3R gy Wy B 0@ Iy 82
pteridophyte

A
RSwrEe
Reptilia
B
Wiy
Arthropoda
C
smifdrst
coelenterates
D

g

Correct Ans : A

Subject : General Science

Q.No: 28 Which one of the following does not belong to the phyla nemathelminths?
2428734

Frofifa & 3 o9 W wrar R 3 g&ia 5w e

hookworm
A

g

roundworm
B

gt

soil nematodes
C

T AR

starfish
D

ARA

Correct Ans : D

Subject : General Science

Q.No: 29 Which type of colours you will use to celebrate eco-friendly Rang Panchami?
2429021

TafaRr & SFFa 01 Gl HHR & R o 5w UBR F i @1 whnT Sk

Man-made colour

A
7w fffa @
Natural colour
B
ElcancaRa]
C Artificial colour
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Fhmam

Dyes

Eeca
Correct Ans : B

Subject : General Science

Q.No: 30 is not an example of pollutants.
2429033
e o SaRu T 8
Fertilisers
A
INF
Pesticides
B
PIEAS
Oxygen
C
it

Sulphur dioxide

TR SFH TS
Correct Ans : B

Subject : General Science

Q.No: 31 Animals are

2429839
SR g
multicellular
A
eukaryotic
B
heterotrophs
C
fardndt
prokaryotes
D

Correct Ans : D

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429870 qestion from the given options.

Assertion: (A) Ron witnessed a group of fishes that had jaws and paired appendages .

Reason: (R)the fishes encountered belonged to the subphylum Gnathostomata.

= fFaffed ny 8 < FuF 8 5 3 1@ &1 sifiduan SR g ®1 "BRU & wU § Aaw 5 T §1 S0t I ST Ul 1 FradHigde o S 8 SR AU e fawed F § wy 1 96 SW
fe[: (T) I 7 TSfed! & U Ty 31 S o 9 ok gftya 3ui 31
PR (IR) oM TSR BT I ST U1, 3 TaPrgad TdReHer ¥ Taifda off|

(R) is true but (A) is false.

A
(R) ¥4 § AfFH (A) T 21
(A) is true but (R) is false
B
(A) T & AP (R) Tad §
C (A) is false.
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(A) TEE €

(R) is the correct reason for (A)

(R) (A) & R T PRI §
Correct Ans : D

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430049 question from the given options.

Assertion(A): Doctors advise you to have yoghurt or buttermilk if you have indigestion or abdominal discomfort.

Reason(R): Yoghurt contains bacteria (Lactobacilli) and can help in neutralising the acid in the stomach.

e Foffad vy § < o= § i 3t 91 "y iR g $1 "SRU" & w9 J A9 B T 31 S19dt 37 G Ul 3 grayrigde g St 8 o R e e # @ vy o1 96 3w
fiHe (A) : AT MUDT ST T Ie B WER ¢ o STaeR AUD] <6l A1 BTS BT YT H BT T8 &d g1
PR (IR): T81 H RN (FRIIReAN) T § IR Tz Ue # Thrs &1 Ffpa F37 § 7eg I 9ol 3

Both A and R are true

A

AIRRIFTIE

Both A and R are false
B

A IR R R 3w §

A is true but R is false.
C

A T 3 A R o B

A is false but R is true.
D

A AR AT R IA R

Correct Ans : A

Subject : General Science

Q.No: 34 Which one of the following is not the products obtained from petroleum?
2430080

FProfafed & 3 SH-ar Qfmm A wra I3 7 87

Petrol
A
g
Paraffin wax
B
e A
Kerosene
C
TR
Coal
D
Faar

Correct Ans : D

Subject : General Science

Q.No: 35 Paraffin wax is a type of -

2431656
WRifte A T YBR BT g -
Animal wax
A
oy A
Vegetable wax
B
ool T
C Synthetic wax
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Ridfew wm

Mineral wax

e A

Correct Ans : D

Subject : General Science

Q.No: 36 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as
2422654 geries carefully out of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

abca__bcaab__ca__bbc__a

Frafiea uy § 3ierl 3t SEar & T Bl 57 saenshi § $o 3R gl Ru MU €, SR A e & R iy v st & 39t wn 7 € 9 3% 9 Tieul R fiw mu uR fwedi § 9 & g@ar o
el & M | T8 [Aped Tiof o T 39T gl

abca__bcaab__ca__bbc__a

bbaa
A

bbaa

abac
B

abac

abba
C

abba

ccaa
D

ccaa

Correct Ans : B

Subject : General Reasoning

Q.No: 37 Find the odd word out.

2424552
SR 2sg T F5 Biford|
Gujarat
A
TR
Madhya Pradesh
B
W
Chhattisgarh
C
oG
Odisha
D
A=

Correct Ans : D

Subject : General Reasoning

Q.No: 38 After walking 5 km towards East, I turn left and walk 3 km. Then after turning left and walking 3 kms, I finally turn left again and walk 3 kms. How far am I standing from my

2426362
# 5 frairtiey gd = it 8k I F uyid a7 3R gEax 3 fHarier Todr §1 iR o7 ok goax 3 fFaric ga & uyrd oid # R @ 9i ok Mear 3 fFafiex Taar §1 & s urftie i
2 kms

A
2 fopeinfiex
9 kms

B
9 feeHiex
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14 kms

14 frandiex
18 kms

18 farfiex
Correct Ans : A

Subject : General Reasoning

Q.No: 39 Choose the numbers which is different from others in the group?

2426453
w0 wgg A @ v e &1 91 S
170
A
170
50
B
50
35
c
35
290
D
200

Correct Ans : C

Subject : General Reasoning

Q.No: 40 Choose the numbers which is different from others in the group?

2426465

3T Y g A & v e w1 T FR2

10
A

10

29
B

29

18
c

18

127
D

127

Correct Ans : C

Subject : General Reasoning

Q.No: 41 In the given diagram, Triangle represents Actors, Circle represents the Actors who can sing, Square represents the Actors who can do stunt and Rectangle represents the Actor

2426613
VAN

7 12

A a{n

9 \ 0] 4

How many Actors can sing and dance?

o MU s ®, fye siftrareh @1 ufafifia Fvar 8, Hed 3 siftRarslt o1 wfaffta a1 § o I EEd §, o9 S eftriarsll &1 i Svan § S wRde R Gdd § SR e S st @
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/N

1

7
A 8(11 3

9\ 10 14

o St M UEd § 9IR T IR P §?
11

N

4

24
Correct Ans : D

Subject : General Reasoning

Q.No: 42 Which of the following diagram indicates best relation between Bacteria, Microorganisms and Protozoa?
2426745

3
:
L
&
:
:
)
g
3
5
:

’

@
®
- ©
- @D
@D

Correct Ans : B

Subject : General Reasoning

Q.No: 43  Select the Lettered pair that has the same relationship as given in the questions:
2426818

Surgeon: Scalpel

I 3R G BT TG4 Y o dae ueli 7 T T aHe wey 4 @

o ¢ e a3t gd
A Musician : Instrument
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GiaPR : 9 9

Carpenter :Cabinet

B
¥g¥ : B
Sculptor : Chisel
C
iR : S+
Baker : Oven
D

IR : T
Correct Ans : €

Subject : General Reasoning

Q.No: 44 M is the son of P. Q is the granddaughter of O who is the husband of P. How is M related to O?
2429583

M, PBIGI 81 Q, O B UK §, Wt P BT URY &1 M, O & fobw UR Taifda 32

Son
A

kel

Daughter
B

il

Mother
C

ATt

Father
D

far

Correct Ans : A

Subject : General Reasoning

Q.No: 45 Select the correct figure that will come in the place of (?) question mark.

2433205
?

1

=

I MPTA &1 FgT IR Sl Yy &g () F RIF W 37t

?
1 ]
N
[ 1]
A
[ 1]
=
B
=
c
o
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Correct Ans : D

Subject : General Reasoning

%1'\‘3‘204767 Observe the first two figures. Try to understand how theyare related. Find the figure in the given
options thatis related to third figure in the same way as the first two figures are related.
Mark the option that completes the analogy:.
- L] [ ]
LIS 2
Tt A1 gt w7 v w7 wewmerdy fover 7 f & 49 st § frg e Rt it ag
s s v S srrfy & e st § G we T I st st
L] [T} -

LD 2

A

B

C

D

Correct Ans : B

Subject : General Reasoning

Q.No: 47 Select the letter-cluster that can replace the question mark (?) in the following series.
2434364

KCZ, MEY, OGX, QIW, ?

ol Jaar ¥ I s1eR-Tug B 994 B ol Uy K5g (?) B vfoenfid #R gHd g
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KCZ, MEY, OGX, QIW, ?

JKL
A

JKL

SKV
B

SKV

JKU
C

JKU

JKT
D

JKT

Correct Ans : B

Subject : General Reasoning

Q.No: 48 In the following question, select the odd number from the given alternatives.
2435051

Frafafed gy § T 10 fased! & & fawn w&1 1 994 il

576
A

576

638
B

638

727
C

727

491
D

491

Correct Ans : B

Subject : General Reasoning

Q.No: 49 How many squares are in the given figure?

2437704
11
L]
& egpfa # fra @l §2
1]
||
20
A
20
15
B
15
17
C
17
11
D
11
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Correct Ans : A

Subject : General Reasoning

Q.No: 50 Aarti and Beena are sisters. Raj and Sanjay are brothers. Aarti’s daughter is Raj’s sister. What is Beena’s relation to Sanjay?

2439314
HRE AR ST T B ST SR o Wi B R BT 3 I B 5% 1 S 7 o § 1 ey g2
Mother
A
af
Grandmother
B
St
Sister
C
il
Aunt
D
GIC|

Correct Ans : D

Subject : General Reasoning

Q.No: 51 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440204 main statement.

When students speak well, they get appreciation
A. students did not speak well

B. The students spoke well

C. they got appreciation

D. they did not appreciation

fow 7T vy H HT By SR IEF 91G IR FUA &1 DY BT BT g A, 6T Ugd $UF BT A0 gk BUF I 7, IR & By s T § GBI HYF F T 81
T B 3T AR ©, ol 6 SRIe fied 8

A. BT 37T Tl detd &

B. BT 7 3T e

C. 3% Wrel el

D. %I W et Bt

BC

BC
CB

CB
AD

AD
cD

cD
Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440237 the main statement.

I will buy that dress, if I can afford it.
A. I can afford the dress

B. I cannot afford the dress

C. I will buy that dress

D. I will not buy that dress.
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fow e gy & gB1 HUF SR IS IC IR HUF &1 FUA BT BT T A, T61 Uee FUF 1 IR GOk FUF Y g, 3R & FUF AIfbE WU § T HUF I W o
# 39t &1 TG, 3R F 38 wle gHa €

A. B OIS 1 @Y 3ol THdl §

B. T OIS &1 T el 381 Thal

C. ¥ I e @i

D. # 9% $§ & wagm

BD

BD
BC

BC
DA

DA
DB

DB
Correct Ans : D

Subject : General Reasoning

Q-No: 53  Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440270 majn statement.

If one has the voter ID, one can cast vote in the election
A. one has the voter ID

B one does not have the voter ID

C. one can cast vote in the election

D. one cannot cast vote in the election.

fow e vy % 981 T SR ITF A% IR HUA §| YT BT ST g A, 6T Ugd FUF $1 A g BUA F 7, IR 3 HUF AIfdd T § I8 HUF § 94 81
R et & U diex oS & o 95 T | dic S Wodl §

A. TR0 & ur diex ot &

B forh & urg dier o A &

C. T/ H dic 31 ¥Fa §

D. $1§ 1 H die 71gl ST FFan

AC
A

AC

BA
B

BA

AD
C

AD

CcD
D

cb

Correct Ans : A

Subject : General Reasoning

Q.No: 54  Select the related letters from the given alternatives.
2441963

EFG : VUT i1 JIH : ?
T T e & & el okt B g
EFG: VUT :: JIH : ?

A suw

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 19/37

Page- 19


https://applink.adda247.com/d/XhqWf9lSap

Addal247

suw

QRS

QRS
Qsu

Qsu
HFD

HFD
Correct Ans : B

Subject : General Reasoning

Q.No: 55 Select the option that is related to the third word in the same way as the second pair is related to the first pair.
2441983

Medicine: Patient :: Fuel:?

T4 faweg &1 997 Y S iR Weg ¥ I X Hefid § 9N gERT Weq TR Weg I G g1

ar: Il o: See?
Wood

bt

Fire

Heat

Smoke
yaif

Correct Ans : B

Subject : General Reasoning

Q.No: 56  Simplify:362-[26 + {16 +5(9+3
Sannayy Simplify [26 +{16+5(9=3)}]

A BINTE: 362 - [26 + {16 +5(9 +3)}]

300
A

300

305
B

305

-300
C

-300

280
D

280

Correct Ans : B

Subject : General Maths

Q.No: 57 H e 40 - - -(25—-18 =
3132707 Simplify: 42 -[82 - {60-(25-18 -9 x3)}]
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WA DI 42-[82- {60 - (25-18+9x3)}]

(1}
A

0

3
B

3

2
C

2

1
D

1
Correct Ans : C
Subject : General Maths

Q-No: 58 Find the compound interest on Rs.19000 for one year at the rate of 32% per annum, if the interest is compounded quarterly.

2423609
19000 T3 HT 32% Ufd T4 T X I TH I F1 gl T I P, TfS = Fwifies 30 71
Rs.2156.6621

A
Rs.2156.6621
Rs.6849.29024

B
Rs.6849.29024
Rs.6187.4912

c
Rs.6187.4912
Rs.3532.9542

D

Rs.3532.9542
Correct Ans : B
Subject : General Maths

Q.No: 59 Ritik borrowed a sum of Rs.38500 from a finance company to purchase a refrigerator. If the rate of interest is 8% per annum compounded annually, calculate the compound in
2423624 company after 3 years.

fae 3 o fire @i & R o B St § 38500 U @51 R IR <t 1 9 S B R 8% Ui 9 e e B, o S el A9 AT Y S 8 A 3 9 F 1 FUR @ Y
Rs.2870.9410

A

Rs.2870.9410

Rs.9998.912
B

Rs.9998.912

Rs.3128.129
C

Rs.3128.129

Rs.4532.890
D

Rs.4532.890

Correct Ans : B
Subject : General Maths

Q.No: 60 Solve:

2428589
{788 x 2 +24 x5 -2424 4 +[92 x 4 - 2460f3 + (363 + 3 - 142 x )]}
Bﬁaﬁ':
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{788 x 2 +24 x5 -2424 =4 +[92 x 4 - 3 FT246 + (363 ~ 3 - 1.42 x )]}

2.84
A

2.84

3.85
B

3.85

2.64
C

2.64

3.64
D

3.64

Correct Ans : A

Subject : General Maths

Q.No: 61 The average of 7 consecutive numbers is 20. The largest of these numbers is:
2432574

TER 7 FaR BT 3N 20 §1 §7 Rl § ¥ 99 997 -iaR 31 87

21
A

21

22
B

22

23
c

23

24
D

24

Correct Ans : C

Subject : General Maths

.No: 62 . .
24331695 If 20+4 — 2072 = 3 _then n is equal to:

gfe 2n+4 — 2042 =3,?‘ﬁn$lﬂﬂ%:

0
A

0

1
B

1

-1
C

-1

-2
D

-2

Correct Ans : D
Subject : General Maths

.No: 63 2 Pl 2 2.
Sazazas If @+ D2 +64c> + 16c+3 = 2(a + b)  then find the value of 3@’ + b7 + 6¢* {57
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e a® + b + 64¢* + 16¢ + 3 = 2(a + b)g, Y 3a” + b7 + 6¢°H] A JTd Br|

7
4_
8
A
7
4_
8
7
3_
8
B
7
3_
8
3
432
C
3
432
3
63
D
6 3

32

Correct Ans : B

Subject : General Maths

Q-No: 64 (1.1 1 1 11 1
2434775 A fob— st
If p=5-V2, q = 5+\2 and r = 3; then find the value of ' pqg ar pr p g r 23

g p=5-v2,q=5+2 3R r=37; F’ﬁ‘E*F 5l aﬂmsﬂaaﬁl

2
A

2

1
B

1

-1
C

-1

-2
D

-2

Correct Ans : A

Subject : General Maths

Q.No: 65 An article marked at Rs.8,000 is sold for Rs. 7,200. What is the discount percentage?
2435220

I 8,000 W 3ifHd TH AW 7,200 T F R I famm Smar §1 fevprde ufomma @ 32
10%

A
10%
8%
B
8%
12%
c
12%
D 11.1%
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11.1%

Correct Ans : A

Subject : General Maths

Q.No: 66 At what percentage above the Cost Price must an article be marked so that after giving 5 % discount a shopkeeper may gain 33% of profit.

2435240

et avg 1 arTd WA fha ufaerd seran ST 1Mt difd GHHER 5% Be & & dia 33% AT U B 9|

38%
A

38%

40%
B

40%

43%
C

43%

48%
D

48%

Correct Ans : B

Subject : General Maths

Q.No: 67 A fruit seller purchased bananas at 12 for Rs 10 and sold at 8 for Rs 5. Find the gain or loss percent.

2435300

TF G a7 12 FA 10 309 F @I SR 8 FA 5 ¥ H §| @1 71 71 vforerel I A

25% loss
A

25% I

25% profit
B

25% WY

30% profit
c

30% H

20% loss
D

20% I

Correct Ans : A
Subject : General Maths

Q.No: 68 3

2437478 The greatestfnctionamong% % éand;is
557 3
3 3 5 MG HEE e s
N
2
A
s
2
5
3
B
s
3
C 7
3

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx

GET IT ON

Google Play

24/37

Page- 24


https://applink.adda247.com/d/XhqWf9lSap

Addal247

Wi

wlw

0w

Correct Ans : A
Subject : General Maths

.No: 69 .
2437498 How many% are there in i.

Rl E
1
A
1
12
B
12
)
C
4
2
D
2

Correct Ans : A
Subject : General Maths

GET IT ON

Google Play

Q.No: 70 In a school, there are 360 students out of which two-third are girls and rest are boys three-fourth of the number of boys are players. The number of boys who are not player a

2437558
T T A, 360 B § R A 1-Rier asfrat ¥ ok v asd ¥ R § d-shers wst et €1 aew! 1 e o Rt e §:
25
A
25
30
B
30
20
c
20
15
D
15

Correct Ans : B

Subject : General Maths

Q.No: 71 If in a symbolic language 'PRINT" is written ‘RUMSZ’ then ‘DRINK’ will be written in the same language as?

2422547
gfe, ot Fidpferd HTST & 'PRRINT' 1 'RUMSZ" feraT ST ol 'DRINK' 1 I 41 7 feran simem forerit?
FUMSP

A
FUMSP
FUMSQ

B
FUMSQ

c GUMSR

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx

25/37

Page- 25


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

GUMSR

FUMPS

FUMPS
Correct Ans : B
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘MASTER' is written *OCUVGT’ and ‘RANGE’ is written 'TCPIG’ then *"MANAGERS’ will be written in the same language as?

2422577

afe; fpdt TipTaw v & "MASTER' H1 'OCUVGT" frar STl & ofik 'RANGE' %Y 'TCPIG' foraT STl & df '"MANAGERS' &1 3t 1 & ferar smom Rrrdfe

OCPICGTU
A

OCPICGTU

OCCPCIGTU
B

OCCPCIGTU

OCICPGTV
c

OCICPGTV

OCPICGTV
D

OCPICGTV

Correct Ans : B
Subject : Mental Ability

Q.No: 73 Tn a row of 58 Flowers, Rose is 17% from right end the Sunflower is 2224 from left end. Find how many
2425595 . =
flowers are in between Rose and Sunflower.

58 g0 @ T Ui H, [ore o OR ¥ 173 WH R § 9k RemyE 918 9R § 2247 g1 a9 SR RemE ¥ b6 # el g §?

18
A

18

19
B

19

17
C

17

16
D

16

Correct Ans : B

Subject : Mental Ability

Q.No: 74 In a certain language, 943 is coded as BED and 12448 is coded as SWEET, How is 492311 coded in that language?
2426513

T fAfd umeT 8§, 943 FI BED 3R 12448 & SWEET & WU H HIfSd fobar oal 8, 39 T & 492311 &1 HA Hifgd fsan smgwm?

EDSWBS
A

EDSWBS

TSWBDD
B

TSWBDD

DSWTEE
c

DSWTEE
D EBWDSS
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EBWDSS

Correct Ans : D
Subject : Mental Ability

Q.No: 75 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430257 voy are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: Fruit prices are sharing in the world market.
Conclusions:
1. Fruits are becoming a rare commodity in the world market.

II. People cannot eat Fruits.

Frofafed vdll &, & o3 < Fved 1, 11 37 SFERe BRa § 1ot Sl SRl I AR S g, & SR W aedl ¥ weltd g1 @i | st P R e Syl & afe P g @t ST 9

FY: Bl &1 B Ay ToR T 91 B W T
e

1. fay 9oIR & wat gefy avg T 1 RB

I1. ST WeT T8l 1 Hebdl|

Only conclusion I follows

A
P Py 1 IR B
Only conclusion II follows
B
Faal ey 1T SRR BT §
Either I or II follows
C
1 I 37 1T SRR Bl §
Neither I nor II follows
D

T IR TR I TR A ¥
Correct Ans : D
Subject : Mental Ability

Q.No: 76 Ifin a certain code language MQUZ is coded as JTRC then how will FICP is the same code language?

2434434
Ife ve P g ww F, MQUZ # ITRC ¥ &Y A ge 351 STl § At GAA g WISt & FICP 1 1 ge fsar smamme
CLYS
A
cLYS
cLzs
B
cLzs
BLZS
C
BLZS
BMZR
D
BMZR

Correct Ans : B
Subject : Mental Ability

Q.No: 77 In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fi
2435470 gecide which of the given conclusions logically follows from the given statements.

Statements:

1. Some trains are planes.

II. All planes are trucks.

III. All trucks are helicopters.

Conclusions:
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1. Some trains are helicopters.

II. Some trucks are trains.

A o Mg wy § o o fag g B Fores w1e <1 e 1 9iR 11w T §1 St A Y e 6 W A R, ) € 3 I el @ i el 1 91 R R da Y e W e o g e
T

I $8 A WA I

1L it @9 & 7

1L ¥ T FellieR B

ey

I. $© ¢ gAPIR B

IL. $8 ¢H & 8l

Only conclusion I follows.

Fael Frem 1 SRy FRaT 7

Only conclusion II follows.

Yl Frep 11 SrgERY B B

Both conclusions I and II follows.

i Y 1 SR 1T 3R ARa B

Either conclusion I or II follows.

g7 < Y 1 7 11 SER B §
Correct Ans : C
Subject : Mental Ability

Q.No: 78 Two statements are given, followed by four conclusions numbered I, II and III. Assuming the statements to be true, even if they seem to be at variance with commonly known
2435530 conclusions logically follow(s) from the statements.

Statement:

All test are corona.

No test are positive.
Conclusions:

I. No positive are test.
II. some corona are test.

III. Some test are not positive.

Q Py AT M §, 3HF 15 IR e 1, 11 o 111 T T €1 S Y e W g, M € W a9t @ e welta 2 €, T8 Fofa i 5 e w1 e sl @ afe w9 8 orgeRr 3
FU:

Tt Tteon BRI

B e FHRIAS T B

Frp:

1. B THRIES TH&0 e 31

I1. $B HRIAT o B

111 T T TSRS Tal 31

Only conclusion (III) follows

A
o Fewd (I11) FeR0 X §
Conclusion (II) and (III) follow
B
frepe (11) SR (1II) TRV R0 &
Conclusion (I) and (II) follow
C
frep (1) 3R (11) SFeRT FRa §
All conclusions follow
D

Tt fspef SrgeRer H7al €
Correct Ans : D
Subject : Mental Ability
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Q.No: 79 How many smaller pieces are obtained by making two cuts in X plane and three cuts in a perpendicular plane Y on the same cube?
2438390

TF T R X ©F F ) Fe 3R TF a=9d @F Y F diF Fe 1 @ o B 7S I 91 82

6
A

6

12
B

12

9
C

9

16
D

16

Correct Ans : B
Subject : Mental Ability

gal\;fgsssﬂa In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:

J<K=20=2
Conclusions:
1.J>2
II.Z<K

FaAfafd 92 &, Foel & arg ey fGu 1w g

3T T &HUAT & MR W AFY & Heqq HY 3 HIA Feal & T 359G [aamed & a0 H
Fu=:

J<Kz20=12

forsad:

L1>2z

I.Z<K

Neither conclusion I nor conclusion II is true

A
7 < s 1 9iR 7 € fspef 11 I ®
Either conclusion I or II is true
B
Ay I I e ¥
Only conclusion II is true
[o}
Faa e 11T
Only conclusion I is true
D

ool Iaad

Correct Ans : C

Subject : Mental Ability

Q.No: 81

2438574 In the following question, the statements are followed by conclusions. Study the conclusions based on the given

statements and select the appropriate option as your answer.
Statements:

S>C>P<O0

Conclusions:

I.LO<P

I.S>P
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AFAfad 9 &, FU= & alg f@vay fgu v §)

TET 1T Tt & AR R FASHy &7 Herae ST 3 A9 3 & F9 A 39gad [Gwed # ahqeT B
FU:

S>C>P<O

s

I.O<KP

I.S>P

Only Conclusion I follows

A
Foarrf 1w g
Only Conclusion II follows
B
Fad P 119§
Either Conclusion I or II follows
C
gAfFEi I Ea Y
Neither Conclusion I nor II follows
D

TafsYIdRT@ I T e

Correct Ans : B

Subject : Mental Ability

Q.No: 82

Xi36603 In the following question, the statements are followed by conclusions. Study the conclusions based on the given

statements and select the appropriate option as your answer.
Statement:

H>J=K,

Conclusions:

I.K>H

I.J=H

fAFATafd 9 &, FU= & arg ey g a7 §)

U AT @2l & HUR T FAShY &7 HeTTF Y 3 A 3 & §9 A Suged [demed o1 ade dil
Fue

H>1=K,

forsad:

LK>H

ILJ=H

Only conclusion I follows

a1 aae

Only conclusion II follows

Faa frsed 11 9

Either conclusion I or II follows

gRfeiIoTnaad

Neither conclusion I nor II follows
Fafpf 1 dRAH I 9T R

Correct Ans : D
Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439089 have to decide which of the given conclusions, if any follow from the given statements.

Statements:

Some birds are animals.
Some animals are not insects.
Conclusions:

I. Some birds are insects.

II. Some animals are insects.
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1 T 7T vy B < HT a1 IUF gyTd ) FISHN 19 11 T U § 1 U 3T T FUF & I AT § |, U3 E 98 Idard et § e vl 910 8 auT Sl & SIUR IR SUST SO SR ST E |

T

TT Ueh TR €

T TR BIS T T
e

1. 35 Ut B2 T

I1. $& TAR BIS §l

Only conclusion II follows

Faa Frepy 11 R0 ST &

Only conclusion I follow

Faa e 1 g Har §

Both conclusion I and II follow

e 1 8IR 11 3T TR BRA &

Neither conclusion I nor II follows

T3 frspef 1 3R 7 @ 1T iR SR §
Correct Ans : D
Subject : Mental Ability

Q.No: 84 Which one of following responses would be a meaningful order of the following?
2442686

1. Chapter

2. Index

3. Bibliography

4. Introduction

5. Preface

Frofufed e ¥ § o5-a e 1 R ge wsdl & wide w0 o) < g
1. S

2. BB

3. Jy gt

4, giEg

5. TR

5,4,1,3,2

5,4,1,3,2
4,2,51,3

4,2,5,1,3
52413

52413

51,432

51,4,3,2
Correct Ans : C
Subject : Mental Ability

Q.No: 85 Arrange the following words as per their order in the English dictionary.
2442722

1. Pearl

2. Peasant

3. Pea

4. Peanut
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Frfefea weal @1 sl Teaeiw # foU 7TQ HA & 3gER ffau

1. Pearl

2. Peasant
3. Pea

4. Peanut

3,1,4,2

3,1,4,2
3,4,1,2

3,4,1,2
1,3,2,4

1,324
1,234

1,234
Correct Ans : B
Subject : Mental Ability

Q.No: 86
2423691 Mangal can paint -2— of a painting in 250 days. How many days will he take to complete painting?

Wwﬁﬁwwgmzso &t 37 G T TerdT § 1 38 T GfEer 3 fercter ot aeter

335
A

335

654
B

654

350
C

350

625
D

625

Correct Ans : D
Subject : General Aptitude

Q.No: 87 If 42 boys earn Rs.4690 in 5 days, what will 45 boys earn in 9 days?
2423713

T 42 TeF 5 A 7 4690 TUT FH ¥, A 45 TSH 9 fAAT H fovan wuma?

Rs.7682.80
A

Rs.7682.80

Rs.4321.70
B

Rs.4321.70

Rs.3478.90
C

Rs.3478.90

Rs.9043.65
D

Rs.9043.65

Correct Ans : D
Subject : General Aptitude

Ahink ~f bhn Enllaiaionn in Aloinibkia b, 09
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Q.No: 88 WIILIL UL LIS TUHUWITY 1S UIVISIVIE UY Of

2427596
Profafed & @ 3 8 A faursa §2
8561235
A
8561235
9828347
B
9828347
2345840
c
2345840
1689201
D
1689201

Correct Ans : C

Subject : General Aptitude

Q.No: 89 Which of the following is divisible by 17?

2427640
Frofafea % @ o 17 § favrsg §2
47087
A
47087
267813
B
267813
876549
C
876549
09876
D
09876

Correct Ans : D

Subject : General Aptitude

Q.No: 90  The ratio of the ages of A and B, four years ago, was 4 : 5. Eight years from now the ratio of the ages of A and B will be 11 : 13. What is the sum of their present ages?
2431174

IR T I A 3R B T 3G &1 SJUIA 4 : 5 UT1 3d F 36 I 971G A 3R B BT 3 PT SIUM 11:13 T 37 &1 3T IGAM 3T BT T A0 37 82

80 years
A

8o af

96 years
B

96 T

72 years
C

72 9§

76 years
D

76 7§

Correct Ans : A
Subject : General Aptitude

Q.No: 91 The sum of the ages of father and son is 38 years. 4 years ago the product of their ages was 4 times the father's age at that time. The present ages of the father and son are 1
2431175

forar ok g7 @1 oy 1 4w 38 T §1 4 9 UG ISY 3Ry FT OGS, R B IW IHG BV o1 F1 4 o0 U1l e oK gF @ adfAA oy HE: § -
A 36 years, 2 years
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36 a, 2 af
28 years, 10 years

B

28 7, 10 3

30 years, 8 years
(o}

309, 8 ay

26 years, 12 years
D

26 9, 12 9§
Correct Ans : €
Subject : General Aptitude

Q.No: 92 The sum of 4 consecutive numbers are 106. The greatest number is:
2431237 4 gurm WOAS HT AN 106 1 WO S WEw ¥

.
c B
-

Correct Ans : B
Subject : General Aptitude

QNo:93 A car covers a certain distance in 25 hours. If it reduces the speed by é th, the car covers 200 km

2435997
less in that time. The speed of car is-
TF FREEGN 25 U H AT Al §| A qpATA R F Ay 1 oo FA I A FR A wAq A 200 Rt FAghaT
FIHMN FRF1 AT Praar
60 km/h
A
60 . /50T
30 km/h
B
30 ft. /e
40 km/h
[
40 f . /9er
50 km/h
D
50 i, /e

Correct Ans : C
Subject : General Aptitude

Q.No: 94 Rabbit complete the 4 Jump as much time the dog completes the 2 Jump. Rabbit can cover 3m in 1 Jump whereas dog cover 8m in 1 Jump. If initial gap of Rabbit and dog is 2
2436045 the Rabbit.

T TR e T F 4 T @ I I & Iug H 2 T aer 81 W 1 ge ¥ 3 W, ok g 1 wam d 8 W 3t o o awan ¥1 9l @i a g1 & g B urfve gt 20 @ T

T B uwsd & fge
10 Jump
A
10 FaT
40 Jump
B
40 Bam
20 Jump
c
20 SaT
D 5 Jump
https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 34/37

Page- 34


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

5 TR

Correct Ans : A
Subject : General Aptitude

Q.No: 95 Two numbers are in the ratio 5 : 11. If their HCF is 24, then the sum of two these numbers is:

2436162
IR 5: 11 F oI # &1 3 361 31 THUE (HCF )24 §, O 39 < TEmah &1 4T §:
120
A
120
384
B
384
408
C
408
264
D
264

Correct Ans : B

Subject : General Aptitude

Q.No: 96 Two bills ,one of Rs 27 .50 and the Rs 13 are to be paid in the coins of the same kind. Find the largest coins that can be used.

2436985

27.50 ¥08 3R 13 FUd & T el 31 0% &) TXE & R4 T YIaH 1 ¢ 1 96 I9 53 Ries 1 Y Rt Iudm foban o e 1

20 p
A

20 9

50 p
B

50 0¥

10p
c

10

25 p
D

25 99

Correct Ans : B

Subject : General Aptitude

Q.No: 97 The sum of two numbers is 36 and their HCF is 4. Find the possible number of pairs?

2437931

& Femsl &1 drTHd 36 9IR 7.9 4 31 U uifad Sem gm [ S

3
A

3

4
B

4

2
c

2

5
D

5

Correct Ans : A
Subject : General Aptitude
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Q.No: 98 If the ratio of principal and the simple interest of 5 years is 10: 7, then the rate of interest is:
2444429

afe; @A SR 5 Iuf F S BT S 10 : 7 §, AN AS Pl ey AT @ ?

14%

A
14%
15%

B
15%
10%

C
10%
20%

D
20%

Correct Ans : A
Subject : General Aptitude

Q.No: 99 A motor carmoves ata speed of 72 kmhr after repairing and moves at the speed of 54 km'hr
2444433 yeforerepairing. It covers X distancein 6 hours afier repairing. How much ime (in hours) will
it take to cover 5X distance before repairing?

T HIEEHR AT Hd & varq 72 AT Aer it S sedfr g earsoma s &
g 54 PR HT T i i & =T §1 Ao R 3 9T ag X 54 BU6 9T H 9 FT
3 O HA | Uge SX G A | ad formr awa (92T ) Afre

30
A

30

40
B

40

36
c

36

a5
D

45

Correct Ans : B

Subject : General Aptitude
Q.No: 100 What should come in place of question mark ‘?’ in the following number series?
2444690

1, 14, 31, 50, ?

frafafed weA § = fag () & ®IE W 3 s

1, 14, 31,50, ?

72

A
72
73

B
73
71

C
71
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113
Correct Ans : B
Subject : General Aptitude
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